Seat Support/ Plate

F
4

5_Sitzsystem.dwg

item ordercode description quantity
1 SP1422060 SEAT PLATE (ONE PIECE) COMPLETE 1
1 1419999-9005 SEAT PLATE 1
1 SP1423205 SEAT MOUNTING KIT (ONE-PIECE VERSION) 1
2 SP1422121 SEAT PLATE, FLEX F. SB 39 CPL. 1
2 SP1422064 SPLIT SEAT SB 43 CPL. 1
2 SP1422065 SPLIT SEAT SB 48 CPL. 1
2 1420458-9005 SEAT PLATE LH CPL. 1
2 1420457-9005 SEAT PLATE RH CPL. 1
2 SP1423206 SEAT (SPLIT) ASSEMBLY KIT 1
2 1444732 ASSEMBLY KIT FOR SPLIT SEAT SB 43cm 1
2 1444733 ASSEMBLY KIT FOR SPLIT SEAT SB 48cm 1
2 1436355 INSTALLATION KIT BRACKET SEAT REINFORCEMENT (RH + LH) 1
3 SP1423183 SEAT PLATE RECARO CPL. 1
3 1423174-9005 RECARO SEAT PLATE 1
4 u21087 CUSHION FIXING STRIP - VELCRO FASTENER (HOOKED) 38 X 400 2
5 P31298 REFLECTOR, YELLOW 2
6 SP1428110 SEAT SUPPORT Optimist, Seat width 45cm, complete 1
7 1419417 MOTOR LA 28.1-100-24-001 1
8 5314532 SEAT PLATE 410 X 520 MM 1
8 5314533 SEAT PLATE 460 X 520 MM 1
9 $182007.P40 ATTACHMENT SHEET METAL FOR SRB PLUG 1
@ Storm?® - Monday 03/27/2006 - -76 -

Yes, you can!




Mounting kit seat plate

1423205.dwg
item ordercode description quantity
1-8 SP1423205 SEAT MOUNTING KIT (ONE-PIECE VERSION) 1
1,2,3,4,5,6,7,8,9,10,11 SP1423206 SEAT (SPLIT) ASSEMBLY KIT 1
1,2,3,4,5,6,7,8,9,10,11 1444732 ASSEMBLY KIT FOR SPLIT SEAT SB 43cm 1
1,2,3,4,5,6,7,8,9,10,11 1444733 ASSEMBLY KIT FOR SPLIT SEAT SB 48cm 1
2,3,11,12 1436355 INSTALLATION KIT BRACKET SEAT REINFORCEMENT (RH + LH) 1
1 NA COUNTERSUNK SOCKET HEAD SCREW M6 X 45 10.9 6
2 NA WASHER 6,4 X 12,5 X 1,6 10
3 NA NYLOC NUT M6 10
4 NA HEX NUT M8 4
5 NA HEX HEAD SCREW M8 X 20 4
6 NA BOLT M10 X 20 2
7 1421700-9005 ANGLE BRACKET RH, SB 43 1
7 1421705-9005 SEAT ANGLE LH SB 48 1
7 1421701-9005 ANGLE BRACKET LH, SB 43 1
7 1421706-9005 SEAT ANGLE RH, SB 48 1
8 NA BOLT M6 X 50 4
9 NA ANGLE BRACE 1
10 NA REINFORCING PLATE 1
11 NA COUNTERSUNK SOCKET HEAD SCREW M6 X 16 4
12 NA BRACKET SEAT REINFORCEMENT LH 1
12 NA BRACKET SEAT REINFORCEMENT RH 1
@ Storm?® - Monday 03/27/2006 - -77 -

Yes, you can!




RECARO-Seat

F3_RECARO-Sitz.dwg

3

item ordercode description quantity
1 SP1422546 RECARO SEAT N-JOY WITH MOUNTING KIT 1

1 SP1420495 RECARO SEAT MOBILITY WITH MOUNTING KIT 1

- SP1423173 RECARO SEAT MOUNTING KIT 1

- F367002 SAFETY BELT WITH VELCRO FASTNER F. RECARO 1

- Z163001A SAFETY BELT WITH SNAP LOCK AND VELCRO FASTNER FOR RECARO 1

2 N89999 HEADREST - SPORT NARDO 1

3 SP1423177 HOLDER F. PUSH HANDLE RECARO CPL.

@ Storm?® - Monday 03/27/2006 - -78 -

Yes, you can!




Holder for push handle RECARO cpl.

WE RECOMMEND RETROFITTING AT THE FACTORY !

B

4

SP1423177.dwg

item ordercode description quantity
- SP1423177 HOLDER F. PUSH HANDLE RECARO CPL. 1
- NA SEAT SETTING STRAP 1
- NA TUBE END PLUG SL 22 2
- NA TUBE END PLUG E 15 X 15 2
1 NA HEX HEAD SCREW M8 X 20 2
2 NA DIN 936 M8 17H BLACK GALVANISED HEX NUT THIN 2
2 NA NYLOC NUT M6 2
3 NA HEX HEAD SCREW M6 X 40 4
4 NA HOLDER FOR PUSH HANDLE RECARO; RAL 9005, DEEP BLACK 1
5 NA WASHER 6,4 X 12,5 X 1,6 4
6 NA HANDLE; RAL 9005 DEEP BLACK 2
7 L10009 HANDLE 2

@ Storm?

Yes, you can!

- Monday 03/27/2006 -

-79 -




Cushion

Picture Seat system Seat width Seat depth color ordercode
cm cm
1420461.dwg
@ Standard n.a. 41 1420460
1220 dng |
@ Standard na. 46 1420461
122006 dwg |
@ Standard n.a. 51 1420462
77000 dwg |
@ Flex 39 na. DEITEE 5252582-TR23
grey
 T722520dwg |
@ Flex 39 n.a. Gyl 5314542
grey
 T722525dwg |
@ Flex 39 n.a. M 1422529
o Ta27500 dwg |
 722520dwg |
@ Flex 43 n.a. DRI 5252583-TR23
grey
 722525dwg |
@ Flex 43 n.a. mel 5314525
grey
77000 dwg |
 T722520dwg |
@ Flex 41 n.a. 1436562
@ Storm?® - Monday 03/27/2006 - - 80 -

Yes, you can




Picture Seat system Seat width Seat depth color ordercode
cm cm
1422529.dwg
Dartex
Flex 48 n.a. 5252584-TR23
grey
[ 14a2529dwg |
Flex 48 n.a. Ul 5314526
grey
[ 142529.dwg |
@ Flex 48 na. M 1422532
[ 142529dwg |
@ Flex 48 n.a. 1436563
[ Taz5stdwg |
- Flex Vic Air 43 n.a. 1422531
1422072.dwg
@ Kontur 43 n.a. 1422072
1422072.dwg
@ Kontur 48 n.a. 1422074
Sitzschutz Comfort 39 na. M 5253078-TR25
Sitzschutz Comfort 43 n.a. M 5253079-TR25
Sitzschutz Comfort 48 AL 5253080-TR25
Flex
R2120R2 ;Ju,g
p—
/ Dt i positiv 45 n.a. 1419632
R2120R2 ;Ju,g
p—
/ e / positiv 45 n.a. 5313953
R2120R2 ;Ju,g
Jo—
/ e / positiv 45 n.a. 5314038
5313958 dwg
/J (‘"“"“"’}- J negativ 45 n.a. 1419633
@ Storm?® - Monday 03/27/2006 - -81-

Yes, you can




Picture Seat system Seat width Seat depth color ordercode
cm cm

5313958 dwg

/ 5“‘ ) negativ 45 na. 5313958
A3139R2 dwg

S / paraplegic 45 n.a. 1419634

paraplegic 45 n.a. 5313962

paraplegic 45 n.a. 5314044

@ Storm?® - Monday 03/27/2006 - -82 -

Yes, you can




Arne Jensen-Seats

Picture Typ Seat height Seat width el. strap ordercode
cm cm
~__Optimist_1.dwg
1
|

1 46 38 - 1419630
1 46 45 - 5313888
1 60 45 - 5313889
1 60 50 - 1419625
2 46 38 - 1419631
2 46 38 X 5313867
2 46 45 - 5313882

[ Optmist 2.dwg|
2 60 45 - 5313883

[ Optmist 2.dwg|
2 60 45 X 5313895
2 60 50 - 1419628

Ontimist_3.dwg
3 60 45 - 5313878

@ Storm?® - Monday 03/27/2006 - -83 -

Yes, you can




Picture Typ Seat height Seat width el. strap ordercode
cm cm

— Ontimist_3.dwg

|

3 70 50 - 5313877
5 60 45 - 5313872
5 70 50 - 5313871

@ Storm?® - Monday 03/27/2006 - -84 -

Yes, you can!




